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Instructions  
• Use black ink or ball-point pen.  
• Fill in the boxes at the top of this page with your name,  
centre number and candidate number.  
• Answer all questions.  
• Answer the questions in the spaces provided  
– there may be more space than you need.  
• Scientific calculators may be used.  
• You must show all your working out with your answer clearly identified  
at the end of your solution.  
  
Information  
• The marks for each question are shown in brackets  
– use this as a guide as to how much time to spend on each question.  
  
Advice  
• Read each question carefully before you start to answer it.  
• Try to answer every question.  
• Check your answers if you have time at the end.  
  

 
 
 

 



Q1. 
  

Youssef is investigating the amount of time students spend on social media. 

Here is what Youssef has written down for his hypothesis and how he plans to collect, process and 
present his data. 

 

Discuss whether Youssef's hypothesis and his plans for collecting, processing and presenting his data are 
appropriate. 
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(Total for question = 5 marks) 

  

 
 
 
 



Q2. 
  

Gary is going to investigate the amounts of time students spend watching TV. 

He is going to write a plan for this investigation. 

His hypothesis is 

"The amount of time that boys spend watching TV is greater than the amount of time that girls spend 
watching TV". 

Write down three other things he should include in his plan. 

Explain why each of these things is appropriate. 

You must refer to more than one stage of the statistical enquiry cycle. 
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(Total for question = 6 marks) 

  

 
 
 
 
 
 
 
 
 
 



Q3. 
  

Tariq wants to investigate the distance people travel to get to their holiday destination and the price of the 
holiday. 

He is going to write a plan for this investigation. 

Write down one thing that he should include in his plan for each of 

 

  data collection 

  presenting and interpreting diagrams 

  presenting and interpreting calculations  

Explain why each of your choices is appropriate. 

You may use the blank space below to plan your answer and write your answer on the lines provided on 
the opposite page. 
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Q4. 
  

A vet wants to estimate the average weight of adult female shorthair cats. 

She took a sample of 8 adult female shorthair cats that were brought to her clinic. 

Here are the cats' weights in kilograms. 

4.0          4.5          9.8          5.1          4.1          4.5          4.2          3.9 

(a)  Identify the outlier. 

 
 
 

 ........................................................... kg 

(1) 

The vet plans to estimate the average weight of adult female shorthair cats using this data. 

(b)  Give her advice. 

You should consider the data she plans to use and which average she should choose.  
Give reasons for your answer. 
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Q5. 
  

A database contains information about the 2567 people registered at a medical centre. 

Here is the information that the database contains on each person. 

 

Rebecca wants to see if there is a relationship between the age of a person registered at the medical 
centre and the number of appointments this person has had at the medical centre. 

Describe how Rebecca can plan to use technology to help her process and present the data for this 
investigation. 

You should refer to the advantages of using technology to process and present data compared to doing 
so by hand. 
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Q6. 
  

Barbara found the following information about the average gross pay, in euros (€), for males and for 
females in ten countries in 2010 

 

Barbara investigates this information using a suitable graph. 

Using the information in the table and her graph, she reaches the following conclusion: 

There is strong evidence that, for every €10 000 increase in gross pay for males, gross pay for 
females increases by €8000 

 
(a)  Explain, giving reasons, what Barbara is most likely to have done to reach this conclusion. 

You should consider 

 

  which type of graph she will have used and why 

  how she will have used the graph and the information in the table  
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(5) 

(b)  Explain why Barbara's conclusion, based on using the data in the table, may be unreliable. 
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(Total for question = 6 marks) 

  

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 


